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import sys
sys.path.append("statlib")
from xtest import Levene_test

Levene_test(x, g=None, method="mean", verbose=True)
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import sys
sys.path.append("statlib")
from xtest import Levene_test

a = Levene_test([3, 2, 4, 2,
(., 1, 2,1, 3, 3,1, 3,1, 2, 2, 2, 1, 2, 21)

Leven test of homogeneity of variances (adjusted by mean)
F = 0.045283, dfl =2, df2 = 12, p value = 0.95589

FEOIRE I TH LTI (1 LFITRS ) TH kv,

b = Levene_test([3, 2, 4, 2, 3, 5, 4, 3, 3, 1, 3, 4, 5, 4, 5],
[llall’ |lall’ llbll’ |lall’ "C"’ Ilcll llall I|C|l llall llbll’

"bll’ |lbll’ llall’ |lbll’ llbll])

Leven test of homogeneity of variances (adjusted by mean)
F = 0.045283, dfl =2, df2 = 12, p value = 0.95589
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c = Levene_test([[3, 2, 2, 4, 3, 5],
[4, 1, 3, 4, 4, 51,
[3, 5, 31D

Leven test of homogeneity of variances (adjusted by mean)
F = 0.045283, dfl =2, df2 = 12, p value = 0.95589
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from scipy.stats import levene

levene([3, 2, 2, 4, 3, 5],
(4, 1, 3, 4, 4, 5],




[3, 5, 3], center="mean")

LeveneResult(statistic=0.04528301886792455, pvalue=0.9558894654935183)



